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AB= B-A
Ex1. Given A(4, -7) and B(2,-2).
Find: <2"%, 277

b.) The magnitude of 4B

{CNve> 2 (39

Ex1. Given A(4, -7) and B(2,-2). Find:
c.) The direclBlon with respect to the posilve x-
axis. <257

-—)
“an (\'-g_ - -6%.2°
+ &0

d.) The vector 4B in polar form.

($25 11 8%)
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Convering Between Polar and Component Form

Polar to
Component to Polar Component

. s (Given vector (; @) in polar
iven vector { ¥, ') in component form, then

form, then

](w)= ¥+y* || x=rcos@
i} y=rsiné

X

6=

/’“—‘\

A unit vector is a vector which is 1 unit long.
Reduced in length (or possibly lengthened) to a
magnitude of 1 while preserving the director of the
vector.

. -V
Unit vector for ';,‘:T]
¥
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Ex1. Given A(4, -7) and B(2,-2).
Find:

e.) The_unit vector for AB
N= <53, s

=
RS T (
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Base Vectors in the Coordinate
Plane

x-axis

y-axis.

Hence the vecta?! can also be wrien -2i
+5j

i = unit vector in the direcon of the posi@ve

j = unit vector in the direcflon of the posiBlve
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Vector Format

Row Vector (3.-2) or (.-2)

S

Column Vector ;|

Unit Vector notallon  3i—2j

Polar Form (+13:1467)

Two vectors # and# are equal if they have the same
magnitude and direcllon.
B3;5)

4.3)

- n\w & n
<

The negallve of vector ii denoted =i/ , is a vector
with the same magnitude but the opposite direcBlon.

Mar 3-10:47 AM

Mar 3-10:47 AM

Vector AddiBlon — Geometric Representallon
Parallelogram
Tip-to-Tail Method Method

A
Figure 9.8

Using this method, you place both tails at the same localon and the
vector sumis the diagonal of the parallelogram.

Vector Subtracllon

The difference of two vectors is the other
diagonal of the parallelogram. Think of it this
way:

Figure 9.9

-7 =i+ (-7)

What would V=t —V—u —ii—V
be ? ? 2
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Vector Addillon — Algebraic Representallon

-3
Ex2. Let g:[l) and §=( } Find:
- s

-3.\
ivv= £-2,711) Ci
-7 = (P}l‘[> (‘q')
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Scalar MulBlplicallon

Changes the length of a vector while preserving the
direcRon.

2u

u
/

1
Ex3. Let ?7{*6) and v=2i+3j . Find:
-2
'?‘3‘) (la)
a.) 7u b.) —2u
c) 4v 9 d.) 20 +3v

e.)—é{’ ‘?éi + (‘%:@
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Ex4. ABCD is a quadrilateral with verces that have
posiflon vectors a, b, ¢, and d respecively.

a.) Express each of the following in
termsof @,b ,¢ ,d . Find:

- - =
a) 4B = b7 e
- >
b)CH = cx- <
c.) R’ RS B
IR
d) 4D
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b.) P, Q, R, S are the midpoints of each each
side. Express each of the following in terms

(e p QO
ST
1

I\”‘ M
) T
4

vl ,ﬂt
L[ 3,

o
S
11
v
0
1
UL

=5
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E:) ProyreiQRrsﬁis a parallelogram.

{ ¢rove PARS

2 S0
fm/a-lwoyfd;

: - RA=Sp
SINCL RS+ nrﬂ;j"a}wﬁ)
PRRS s & prrdleyq ’

i i qreum,
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Pg 407 #1, 2, 6, 10, 11, 14, 15, 17-20,
22,23
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